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Section 1 - General English

1) Choose the right option of the indirect speech given
below.

Renuka said, “l am very busy now.”

A) Renuka said she was very busy then.
B) Renuka said that she was very busy.
C) Renuka said that she was very busy then.
D) Renuka said that she was very busy now.

2) Choose the correct question tag.
The parrots flew away.

A) weren't they?
B) did it?

C) wasn'’t they?
D) didn’t they?

3) The comparative form of far is

A) Furthest
B) Farthest
C) Farther
D) More far

4) In the following question, find out which one of the word
given below the sentence is most appropriate in meaning
for the underlined words in the sentence.

The viral attack had made Anita sluggish, lifeless and slow.

A) Inertia

B) Inert

C) Irresponsible
D) Unstable

5) Provide the synonym of the underlined word.

The organizers had made the requisite arrangements for
the conference.

A) Necessary
B) Extra

C) Complete
D) Elaborate

6) The adjective form of gold is

A) Goldie
B) Golden
C) Gild

D) Godly

7) Choose the option with the correct punctuation.

The matter was one which concerned the internal
administration of a foreign state.

A) The matter was one which concerned the internal
administration of a foreign state.

B) The matter, was one which concerned the internal
administration of a foreign state.

C) The matter was one, which concerned the internal
administration of a foreign state

D) The matter was one which concerned the internal
administration, of a foreign state.

8) Choose the plural form of the underlined word in the
sentence.

His mother-in-law is very dear to him.

A) Mothers-in-law
B) Mother-in-laws
C) Mothers-in-laws
D) Mothers-ins-laws

9) Choose the correct sentence.

This competition proved so serious to local industries and
alternative duties had to be introduced.

A) This competition has proved so serious to local
industries and alternative duties had to be introduced.

B) This competition had proved so serious to local
industries and alternative duties had to be introduced.

C) This competition proved so serious to local industries
that alternative duties had to be introduced.

D) This competition proved so serious to local industries
when altenative duties had to be introduced.
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10) As the critical hour approached his family and friends
gathered around him.

Choose the appropriate form of ‘No sooner-------than’

A) No sooner does the critical hour approach than his
family and friends gathered around him.

B) No sooner did the critical hour approached than his
family and friends gathered around him.

C) No sooner did the critical hour approach than his family
and friends gathered around him.

D) No sooner does the critical hour approached than his
family and friends gathered around him.

11) Choose the right option to fill in the blank.
poems he has written are all of excellent quality.

A) Afew

B) Very few

C) The few

D) Few

12) Choose the appropriate idiom that describes the quality
mentioned in the statement.

Mohan was always engaged in disputing over petty points
and quibbling over trifles.

A) Currying favour

B) Keeping up appearances
C) Splitting hairs

D) Rising to the occasion

Directions for questions 13-15:

Read the following passage and answer the questions that
follow:

Swami Vivekananda gave a very comprehensive concept
of man-making education. His whole concept of man-
making education has been based on the philosophy of
Vedanta. Therefore, according to Swami Vivekananda,
education is the manifestation of the perfection already in
man. He believed that education was not merely imparting
of facts and a man could not be considered educated if he
passed some examinations and delivered good lectures.
Education must equip people for the struggle for life, bring
out the strength of character, a spirit of philanthropy and
the courage of a lion.

13) Choose the right option to fill in the blank.

According to Swami Vivekananda, education is all about

A) Facing adversities

B) Giving examinations
C) Remembering facts
D) Achieving high scores

14) Philanthropy means---

A) Feeling sorry for people

B) Helping people in need

C) Showing sympathy to people
D) Empathizing with people

15) Choose the right option and fill in the blank.

Man-making education is based on the
philosophy.

A) Western

B) South-East Asian

C) Oriental

D) Eastem

16) Choose the plural form of the underlined word in the
sentence.

A memorandum of understanding was signed between the
two State universities.

A) Memorandums
B) Memoranda
C) Memorandas
D) Memorandia

17) Choose the correct negative sentence.

In this house, you find everything except happiness.

A) In this house, you find everything but not happiness.

B) In this house, you could find nothing except happiness.
C) You can find anything in this house, and happiness too.
D) In this house, you cannot find anything and leisure.
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18) In the following question, find out which one of the word
given below the sentence is most appropriate in meaning
for the underlined words in the sentence.

He was asked to quit the job because he had become
erratic, unmethodical and unsystematic.

A) Infrequent
B) Irregular
C) Periodic
D) Transitional

19) Choose the right option of the Direct speech given
below.

He said that his mother was writing letters.

A) He said, “My mother is writing letters.”

B) He said, “My mother has been writing letters.”
C) He said, “My mother had been writing letters.”
D) He said, “My mother have been writing letters.”

20) Choose the right spelling of the underlined word in the
sentence given below.

The batalion of the Gurkha Rifles was posted at the border
to check infiltration

A) Betalion
B) Battalion
C) Betallion
D) Batallion

21) Choose the correct feminine form of the underlined
word.

The Earl ordered that the convict should be set free.

A) Baroness
B) Maharani
C) Countess
D) Marchioness

22) Identify the appropriate meaning for the idiom
underlined in the sentence below.

He has been working on and off several years to complete
a book.

A) Sometimes
B) Atintervals
C) Atrandom
D) Continuously

23) Arrange the sentences given below in the right order.

a. She has no formal training in music.

b. Munniya is a 16 year old girl with a melodious voice.
c. The audience show their appreciation by clapping and
cheering at her.

d. Munniya sings at the village square every evening.

A) abcd
B) badc
C) dbac
D) bdca

24) Choose the correct verb.
He out five minutes ago.

A) Has gone
B) Had gone
C) Went

D) Will go

25) An expression of satisfaction spread over his face.
Choose the correct question tag.

A) wasn'tit?
B) didn't it?
C) hadn'tit?
D) did it?

26) Select the right option for the underlined phrase.

There is a inkstand, one-rupee note and an umbrella in that
bag.

A) is an inkstand, an one-rupee note and an umbrella in
that bag.

B) is an inkstand, a one-rupee note and an umbrella in that
bag.

C) is an inkstand, an one-rupee note and a umbrella in that
bag.

D) are an inkstand, an one-rupee note and a umbrella in
that bag.

27) Choose the correct Interrogative sentence.

My teacher thought creatively.

A) Does my teacher thought creatively?
B) Didn't my teacher think creatively?
C) Did my teacher thought creatively?
D) My teacher thought, didn’t she?
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28) Choose the option with the correct punctuation.

After welcoming the members associates and those well-
wishers of the society who were present he expressed
regret at the absence of Mr. Khanna.

A) After welcoming the members, associates, and those
well-wishers of the society, who were present he expressed
regret at the absence of Mr. Khanna.

B) After welcoming the members, associates and those
well-wishers of the society who were present, he expressed
regret at the absence of Mr. Khanna.

C) After welcoming the members, associates, and those
well-wishers of the society who were present he expressed
regret at the absence of Mr. Khanna.

D) After welcoming the members, associates and those
well-wishers of the society, who were present, he
expressed regret at the absence of Mr. Khanna

29) Choose the correct sentence.

Hyderabad may take first place among all the other cities
and towns of India.

A) Hyderabad may take first place among the cities and
towns of India.

B) Hyderabad may take first place among all other cities
and towns of India.

C) Hyderabad may take first place among all the cities and
towns of India.

D) Hyderabad may take first place among the other cities
and towns of India.

30) Choose the right option to fill in the blank.

I swim across the river easily.

A) May
B) Might
C) Can
D) Must

31) Provide the antonym of the underlined word.

The moment he entered the valley he could feel the
tranquility around him.

A) Peace

B) Disturbance
C) Hamony
D) Noise

32) Choose the right option to fill in the blank.

The worker’s strike will have a bad on the

production.

A) Affect
B) Effects
C) Effect
D) Affects

33) Choose the correct voice.
Dr. Shah tested the patient's movement.

A) Dr. Shah had tested the patient's movement.

B) The patient's movement are tested by Dr. Shah.
C) The patient's movement were tested by Dr. Shah.
D) The patient's movement was tested by Dr. Shah.

34) Choose the right option to correct the sentence.

Cow is a useful animal.

A) Add “the” before the word “Cow”
B) Change “a” to “an”

C) Remove “a
D) Change “a” to “the”

35) Choose the correct verb.

She in the concert tomorrow evening.
A) Has been playing

B) Has played

C) lIs playing

D) Had been playing

36) Choose the right option to correct the sentence.
The later chapters are lacking in interest.

A) Last

B) Latter
C) Latest
D) Lately
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37) Choose the right option for the word underlined in the
sentence given below.

Sycophants seek to curry favor with people of influence or
wealth.

A) FALSE
B) Partially True
C) TRUE
D) Partially False

38) Choose the right option to correct the sentence.

The recommendations of the Committee will neither bring
good government nor contentment to India.

A) The recommendations of the Committee will bring
neither good government nor contentment to India.

B) The recommendations of the Committee neither will
bring good government nor contentment to India.

C) Neither the recommendations of the Committee will
bring good government nor contentment to India.

D) The recommendations of the Committee will bring good
government neither nor contentment to India.

e e e e e e e e T e e g

39) Sooner or later you will have o eat your words.
The meaning of the underined phrase is

A) Retract

B) Complete

C) Change

D) Miss

40) Choose the correct name of the underlined word in the
sentence when it is a baby.

The horse galloped with all its might and won the race.

) Filly
) Colt
) Fawn
D) Mare
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Section 2 - General Awareness

41) By which year, India adopted Wildlife (Protection) Act?

A) 1962
B) 1972
C) 1982
D) 1992

42) Which is the biggest Union Territory in India?

A) Andaman and Nicobar Island
B) Daman and Diu

C) Dadra and Nagar Haveli

D) Puducherry

43) Who won the Bharat Ratna Award for the year 2014
along with the former Prime Minister of India Shri Atal
Bihari Vajpayee?

A) Pt. Bhimsen Joshi

B) Pt. Madan Mohan Malaviya
C) Pt. Ravi Shankar

D) Pt. Shivkumar Chaurasia

44) Who was the chairperson of Central Board of
Secondary Education in 2014-20157?

A) Smriti Irani
B) S.S. Mantha
C) Praful Patel
D) Satbir Bedi

45) In which year the Panchayati Raj was established in
India?

A) 1959
B) 1969
C) 1979
D) 1989

46) In which year was India’s fastest supercomputer Param
Yuva-ll inaugurated?

47) Which country hosted the 6" BRICS Summit held on
15-16 July, 20147

A) Brazil
B) China
C) India
D) South Africa

48) Who won the Pulitzer Prize in Poetry for the year 20147

A) Donna Tartt

B) John Luther Adams
C) Margaret Fuller

D) Vijay Sesadri

49) Which of the following ports does not have a natural
harbor?

A) Mumbai

B) Cochin

C) Chennai

D) Vishakhapatnam

50) Seismology is the study of

A) Earthquakes

B) Impact of earthquakes
C) Both of the above

D) None of the above

51) Who wrote the book ‘Ignited Minds'?

A) Amrita Pritam

B) A.P.J. Abdul Kalam
C) Khushwant Singh
D) Salman Rushdie

52) According to Human Development Report (2014) of |
United Nations Development Program, out of 187
countries, what was the position of India? |

A) 87" rank

B) 135" rank

C) 153" rank

D) 178" rank '

A) 2014 53) Who among the following is the Nobel Prize winner for
B) 2013 peace for the year 20147
C) 2012
D) 2011 A) Aung San Suu Kyi
B) Ban Ki-moon
C) Dalai Lama
D) Kailash Satyarthi ‘
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54) Which among the following is India’s first paperless
newspaper launched on 3™ January 20017

A) The Hindu
B) India Today

C) The News Today
D) The Times of India

55) Which of the following organizations is working to
maintain peace and security in the world?

A) UN

B) UNICEF
C) UNESCO
D) UNIDO

60) Which state is recently separated from Andhra
Pradesh?

A) Karnataka
B) Kerala

C) Tamil Nadu
D) Telangana

61) In which country is the headquarters of INTERPOL
located?

A) Canada
B) England
C) France
D) USA

56) The exact time of earth’s rotation to complete one
rotation is

A) 23 hours 59 minutes 4.091 seconds
B) 23 hours 56 minutes 4.091 seconds
C) 23 hours 58 minutes 4.091 seconds
D) 23 hours 57 minutes 4.091 seconds

57) Which of the following is the United Nations Literacy
Decade?

A) 2001-2010

B) 2003-2012

C) 2013-2022

D) 2007-2016

58) By which year did the Right to Education Act come into
effect?

62) Where is the Bermuda Triangle located?

A) Arabian Ocean
B) Atlantic Ocean
C) Indian Ocean
D) Arctic Ocean

63) Who won the Men’s Wimbledon title for the year 20147

A) Rafael Nadal

) Novak Djokovic
) Roger Federer
)

B
&
D) Leander Paes

64) Whose abbreviated/alternative name is Frontier
Gandhi?

A) Abdul Ghaffar Khan
B) Sardar Vallabhbhai Patel

A) 2008 C) Jawaharlal Nehru
B) 2009 D) Lal Bahadur Shashtri
C) 2010 S
D) 2011 65) Which is the International Day of Peace?
59) What is the cause of nightblindness? A) Sep-05
B) Sep-15
A) Vitamin ‘A’ C) Sep-21
B) Vitamin ‘B’ D) Sep-30
C) Vitamin ‘C’ R — -
D) Vitamin ‘D’ 66) In which Indian Union Territories, French is among the
principal languages?
A) Andaman and Nicobar
B) Dadra and Nagar Haveli
C) Daman and Diu
D) Puducherry
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67) For which field is the Vikram Sarabhai Award given?

A) Biology Research

B) Mathematical Research
C) Science Research

D) Space Research

68) In wh iCh year was the Red Fort of Indla declared as a
world heritage site by UNESCO?

A) 2005
B) 2007
C) 2009
D) 2011

69) Wh\ch country won the FIFA FootbaII World Cup 2014'?

A) Argentina
B) Brazil

C) France
D) Gemany

70) Which is the replacement name of 65-year-old socialist-
era Planning Commission of India?

A) Jan Dhan Yojna
B) NITI Aayog

C) Samaj Aayog
D) Vikas Aayog

71) Which of the following is the form of indirect tax?

A) Excise duty
B) Service tax
C) Income tax
D) Sales duty
72) The Constitution of India classmed Fundamental Rights
into six categories through the Articles 14 to 35. Which
Articles cover the Cultural and Educational Rights?

A) Article 14-18
B) Article 23-24

) Article 29-30
D) Article 31-35

73) In which state is the Corbet‘t Natlonat Park Iocated?

A) Assam

B) Gujarat

C) Karnataka
D) Uttarakhand

74) Which among the following states is the chief producer
of coffee in India?

A) Assam

B) Darjeeling

C) Karnataka

D) Kerala

75) When has India been declared as Polio free by World
Health Organisation (WHO)?

A) January 1, 2014
B) February 27, 2014
) March 27, 2014

D) April 4, 2014

76) Which is the National Science Day?

A) Feb-13

B) Feb-14

C) Feb-24

D) Feb-28

77) As per the major agricultural revolutlons ot India, whlte
revolution stands for the milk/dairy operations. Which
among the following supports the blue revolution?

A) Food Grain

B) Fishery

C) Egg and Poultry

D) Wool and Fertilizers

78) Who was the first recipient of Bharat Ratna Award?

A) Dr. Rajendra Prasad

B) Dr. Zakir Hussain

C) Dr. Sarvepalli Radhakrishnan
D) Dr. CV Raman

79) Which season WI|| it be in Southern Hemlsphere when
there is summer season in Northem Hemisphere?

A) Summer
B) Winter
C) Spring
D) Autumn
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80) Which of the following days is also observed along with
the Indian Republic Day on 26™ January?

A
B

International Customs Day
National Youth Day

World Leprosy Eradication Day
National Tourism Day

o Gl e i L)

C
D
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Section 3 - Aptitude for Teaching Profession

81) Local leaders are hindrances in the efficient functioning
and administration of school because they

A) keep watch over teachers.

B) participate in its activities.

C) interfere in its day to day working.
D) keep a control over expenditure.

82) A student stammers in your class and other students
make fun of him, you will

A) ignore the situation.

B) punish the students.

C) refer him to a speech therapist.
D) report to the principal.

83) If a student fails to answer a question in your class, you
would

A) ask the other student to answer.

B) ask him a simpler, related question.
C) punish him.

D) ask him to sit down.

84) Students' participation in co-curricular activities leads to

A) neglect of students.

B) all round development of students.
C) wastage of students’ time.

D) indiscipline in the school.

85) You are principal. One of the teachers always talks
against a teacher. What will be your reaction?

A) not attend to this complaint

B) try to stop him

C) getangry

D) call the teacher and ask him about the complain

86) A student of your class meets with an accident and
hurts his legs just few weeks before the examination. You
will

A) not worry because it was destined for that student that
way.

B) send get well wishes.

C) find time to visit him and keep enquiring about him.

D) enquire about him through his friends.

87) Which of the following can be the most effective
method for character building among the students?

A) Talk on moral values by the teacher.
B) Teaching about the lives of great men.
C) Living example of a good teacher.

D) Praising for good character.

88) If a student remains extraordinarily quiet in the class
discussion while he is very talkative and playful outside the
class, you will

A) ask the student to speak in from of the whole class.
B) assign him some topic to speak in the class.

C) try and find out why he is so passive in your class and
talk it to him.

D) ignore him.

89) When teaching a class, you find that some students are
not present in your class while they were present in other
periods. What would be your most appropriate conclusion?

A) Students are mischievous.

B) | am lenient with them.

C) Something is wrong with my teaching.
D) Students lack intelligence.

90) While explaining any point to someone, if | am
interrupted,

A) | will say, please don’t disturb.

B) | will continue explaining.

C) I will get angry.

D) Iwill tell him to first listen to me and then ask if not
understood.

91) A good teacher should read newspapers and
magazines because

A) this helps in utilizing his time

B) it provides recreation

C) it helps in giving useful information to the students
D) it helps him in taking part in politics

92) In order to make your teaching more effective, which of
the following would you like to adhere to?

A) learn the lesson by heart.

B) discuss the lesson with other teachers.

C) employ illustrations for better understanding.
D) write everything on blackboard.

Page 11 of 24

collegedunia:

India’s largest Student Review Platform




27086 _1C

93) You wish to become a teacher because

A) the salaries of teachers have been improved.

B) in this profession, there is scope for increasing income
through private tuitions.

C) you are interested in teaching.

D) you think it is difficult to get some other job.

94) In order to promote learning in the classroom, you
would

A) encourage group interaction among students.

B) discourage group interaction among students.

C) prohibit group interaction in the class totally.

D) allow group interaction only among few students.

95) A bright pupil in your class causes annoyance to you by
making a show of his knowledge. You should

A) give him some work that he cannot do.

B) complain against him to his parents.

C) complain against him to the principal.

D) give him some difficult work in the area of his interest.

96) A high school student obtains 70% and 40% scores in
spelling and numerical ability tests respectively and his 1.Q.
is 108. He wants to pursue a vocational training program.
As his teacher which vocation will you suggest him?

A) Accountancy

B) Proof reading in a news paper
C) Teaching mathematics

D) T.V. reporting

97) If a student is not attentive in your class, you will

A) report the matter to the principal.

B) scold him.

C) ask him to be more attentive in the class.

D) try to know why he is not paying attention.

98) A student comes to me on some pretext or other for
being in my good books. This causes other students to
envy him, or to concoct stories about my integrity. | will

A) not bother about the opinions of others.

B) try to improve the behavior of the student with all
decency.

C) restrain him.

D) rebuke him.

99) Cultural programmes should be organized in the
schools because

A) these provide opportunity for creation

B) these provide opportunity for gainfully spend time

C) these lead to cultural development of the students

D) these help in maintaining discipline

100) If a teacher is transferred to a place he does not like,
he will

A) try to get adjusted to the place.
B) start neglecting his work.

C) take long leave and sitat home.
D) leave the job.

101) For maintaining discipline in the class

A) students should be severely punished for acts of
indiscipline.

B) teacher should try to make his teaching interesting.

C) non attentive students should be turned out of the class.
D) parents of the indisciplined students be informed.

102) You find a group of weaker students in the class. In
order to help them you will

A) proceed very slowly

B) pay special attention to weaker students

C) not present the subject matter in details

D) give special help to such students after the class
103) In your school, inspection is going on. If one parent
reports against you to the inspector, you would

A) express your anger
B) take revenge on the parent

C) take revenge on the children

D) explain to the inspector and parent

104) Which of the following is not correct about a good
teacher?

) Exchanging ideas with pupils

) Encouraging pupils’ opinion

) Always directing pupils

) Encouraging pupils to make their own decisions

A
B
Cc

D
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105) Students respect their teachers because the teachers
treat their students with

A) cruelty

B) dominance

C) patience and care

D) selfishness

1086) In order to save yourself from tensions involved in
your job, as a teacher you will not

A) care for any authority.

B) think your job as a burden.

C) devote much time in the preparation of our lessons.
D) think about school work after school hours.

107) Students will respect the teacher most if

A) he is sincere to his task.

B) he succeeds in enforcing discipline.

C) he is friendly to students.

D) he asserts his authority.

108) While teaching, the age level of the students should
be keptin view because

A) needs of the students depend on their age

B) interest of the students depends on their age

C) students' capacity to learn depends on their age
D) all the above

109) In your opinion, which of the following is the most
important quality for being a successful teacher?

A) Punctuality

B) Industriousness

C) Adequate knowledge of subject matter
D) Being a strict disciplinarian

110) In order to develop self-confidence in shy students
you as a teacher would

A) provide them an opportunity to tell something they
know.

B) force them to speak.

C) scold them if they fail to speak.

D) make no specific effort for it.

111) If some teachers neglect their duties, as a headmaster
you will

A) ignore it.

B) punish such teachers.

C) advise them to work propery.

D) report the matter to the managing committee.

112) You have been made in-charge of the cultural
programme of the school and you find that two talented
students cannot see eye to eye. Under such situation you
will

A) drop either of them from the programme to avoid the
tension.

B) impose penalty for breaking the discipline.

C) give them different responsibilities.

D) ask the principal to take decision.

113) What is the most serious defect of rote learning?

A) It leads to memorization of many useless things
B) It comes in the way of original thinking

C) It does not lead to high marks

D) It has a harmful effect on the brain

114) Whenever a student comes for academic help

A) | start wondering where from he has come.
B) | direct him to someone else.

C) lask him to come some other time.

D) I'help him to the best of my abilities.

115) If a student asks you a question whose answer you
don'’t know, then you will

A) scold him and start teaching.

B) ask him to come later.

C) give this question as a homework.

D) tell him this question will be answered the next day.

116) What should be done to reduce the learning difficulties
of student?

A) Knowing the causes and removing them
B) Providing more facilities

C) Giving them more practice

D) Devote more time
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117) If two students start quarreling for a seat you would

A) support the weaker student
B) ignore them

C) scold the stronger student

D) try to reconcile between them

118) If a student fails to understand even after repeated
explanations

A) 1feel bad.

B) 1think of some other method of explaining.

C) Ifeel that my expression power is weak.

D) I start thinking that the student is an idiot.

119) What should be done to ensure optimum growth of the
brightest students?

A) Teacher should not worry about them.

B) They should be left on their own.

C) They should be given challenging tasks in the area of
their interest.

D) They should be treated like others.

120) Who should choose the text books for school children
in a subject for various classes?

A) The teacher teaching the subject

) A committee of expert teachers of the subject
) The principal
)

B
@
D) The class teacher
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Section 4 — Reasoning

Directions for questions 121-122:

If A+ B means A and B are married, A-B means A and B
are divorced, A * B means A is son of B and A/B means
A and B are siblings, then

121) M+N / O means

A) O is sibling of N

B) M and N are divorced
C) Mand O are siblings
D) Mis motherof O

122) Z-X + Ameans

A) Zis the son of A

B) Z and A are divorced
C) X and A are married
D) Z and A are married

123) Coffee is coded as Cold-tea, Cold-tea is coded as
Cocoa, Cocoa is coded as Chocolate, what did | drink if |
ordered Cold-tea?

A) Coffee

B) Cold-tea

C) Cocoa

D) Chocolate

124) Read the following statements and select the correct
conclusion given below.

1. Potatoes cost more than Onions
2. Tomatoes cost less than Potatoes.

A) Potatoes are the costliest

B) Tomatoes cost less than Onions

C) Onions and tomatoes cost equal

D) Tomatoes are the cheapest

125) The radius of a circle is equivalent to the area of a
square whose side is 7 centimeters. The radius of the circle
is close to which value?

A) 7
B) 10
C)5
D) 4

126) There are five houses in a row. B is on right side of A
and left side of D. C is on the left side of E. A is on the
right of E. Which house is in the middle?

A) E

B) D

C) A

D) B

127) Statements:
All flowers are colorful.
All roses are red in color.

Conclusions:

I. All flowers are red in color.

II. All colorful things are flowers.
I1l. All red color flowers are roses.
IV. All red color things are roses.

A) Only land IV follow

B) Only Il and IV follow
C) Only lll follows

D) All follow

128) Statement:

People who are found to be introverts generally perform
better in written examinations.

Assumptions:
1. Extroverts cannot perform well in written examinations.
2. Introverts can also perform well in oral examinations.

A) If only assumption | is implicit

B) If only assumption Il is implicit

C) If either I or Il is implicit

D) If neither I nor Il is implicit

129) "Constellations are group of stars that make a pattem
in the sky.”

Which of the following conclusions cannot be made from
this statement?

A) Constellations are a group of stars

B) Stars and constellations are seen in the sky
C) Stars form definite pattems in the sky

D) Constellations of stars can make a pattem
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130) Statement:
To reach the economic growth target of 9% for India in
present economic conditions of world is a dream.

Assumptions:

1. India can never achieve the growth target of 9%.

2. If economic conditions change world over, India can
hope for achieving the growth target of 9%.

A) Only assumption | is implicit

B) Assumption Il is implicit

C) Either Il or Il is implicit

D) Neither | nor Il is implicit

131) If P stands for ‘addition’ Q stands for ‘subtraction’

R stands for ‘multiplication’ and S stands for ‘division, which
of the following statements is correct?

A) 36R4388Q7P4=10

B) 16 R12P4957Q9=200
C)32S8R9=156Q12S12R 3

D) 8R8P83S8Q8=57

132) A man walks 5 km toward north and then turns to the
right. After walking 3 km he turns to the left and walks 5 km.
Now in which direction is he from the starting place?

A) East
B) West
C) North
D) South

133) Elephant is coded as 512516811420 and Monkey is
coded as 13151411525. Then Python is coded as -

A) 16352281614

B) 16520981514

C) 16252081514

D) 62152908514

134) Here are some words translated from an artificial
language.

CINVIN means grape plant
JUIVIN means grape wine
JUIRIO means rice wine

Which word represents 'rice flower'?

A) RIOVIN
B) CINJUI
C) FERMINO
D)

FERMRIO

135) Choose the figure that follows the sequence?

O |?

136) There are nineteen persons in a row. If the number of
person in the middle is 10" from the beginning, what will be
the number of person counted from the end?

A) slh

B) gth

C) 10"

D) 12"

137) Statements:

All the roses in the garden are white in colour.
All the lilies in the garden are yellow in colour.

Conclusions:

1. All the flowers in the garden are either yellow or white.
2. All the flowers are white in colour.

3. All the flowers are yellow in colour

4. Some flowers are white and some flowers are yellow in
colour.

A) Only land IV follow
B) Only Il and IV follow
C) Only land Il follow
D) Only IV follows
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138) Five years ago the average age of 4 persons is 45.
With another person joining them now, the average
increased to 49 years. What is the age of fifth person?

A) 25 years
B) 45 years
C) 55 years
D) 60 years
139) A and B are brothers. X is Y’s brother and is father of
A. What is the relationship between B and Y?

A) B is brotherof Y
B) Bis uncle of Y
C) Y is brother of B
D) Yis uncle of B

140) Find the number of triangles in the given figure.

A) 14
B) 12
C) 10
D) 16

141) Find the odd man out.

A

B)

a6

142) Cost of one mango is equal to cost of two bananas
and three guavas. Cost of one guava is equal to cost of
three pomegranates. Cost of one banana is equal to twice
that of one guava. Cost of one pomegranate is Rs. 2.50/-,
what is the cost of one mango?

A) Rs. 23.50
B) Rs. 46.50
C) Rs. 27.00
D) Rs. 52.50

143) If 21 #32 =8 and 34 # 59 = 21

then the value of 75 # 86 =7

A) 33
B) 45
C) 26
D) 66

144) Which letter fills the gap in the given series?

A GMZ?Y
A) O
B) Q
€) 5
D) T

145) Hitesh who is facing west, turns 120%in the clock-wise
direction and then 150 in the anti-clock-wise direction.
Which direction is he facing now?

A) North-West
B) South-West
C) North-East
D) South-East

146) Teacher: Classroom : : Mechanic:

A) Hospital
B) School
C) Office

D) Factory

147) A school employs G graduates and P postgraduates
as teachers. What part of its teachers are postgraduates?

A) GIP
B) G/(P+G)
C) PI(P+G)
D) P/G
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148) If 45 rt + 9 = 40 rt, then the value of rtis?

>

) -9/5
B) 45/40
C) 5/9
D) 40/45

149) Friend: Foe : : lllumination:

A) Fantasy
B) Flame

C) Darkness
D) Brightness

150) Find the missing term in the following series?
12,456, 891011, ?, 192021222324

A) 1314151617

B) 1214131516

C) 1112131415

D) 1217181615

151) Find the figure in which the question figure is
embedded.

Question Figure:

L

S

D)

152) Find the missing number in the series

2,4,8,64,6,216,9,

A) 846
B) 279
C) 356
D) 729

153) Arrange the following words in order.

Happy; Hungry; Fruits; monkey; ate.

A) Monkey ate fruits hungry happy

B) Hungry monkey ate fruits happy

C) Happy monkey fruits ate hungry

D) Hungry happy monkey fruits ate

154) In a survey of 200 people about the sales of three
soaps M, N and O, the following data are given out.

120 people use only soap M; 90 people use only soap N;
80 people use only soap O; 20 people use both M and N
and 40 people use both M and O. From the data, find out
the people who use soaps N and O.

)
)
)

o0 o>
~N B WO
o o OO

)

155) How many rectangles are there in the following figure?

- o N

1

156) Find the odd number from the series

8B E

16, 64, 25, 27, 81, 100, 169, 144.......

A) 27
B) 144
C) 100
D) 81

157) Arrange the following sentences in order.

1. There are fifty two weeks in a year.
2. There are twenty four hours in a day.
3. There are seven days in a week.
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158) Read the following statements and identify the
incorrect conclusion.

1. Salim is a lawyer

2. Rahim is an architect

3. Roni is a Civil Engineer

4, John is a law graduate working as a builder

A) Salim and John are lawyers

B) John and Rahim are with construction work

C) Roni and Rahim are not related to construction work
D) Roni, John are builders

159) Statement:

Recuperation of patients is better in a family with well-knit
bonding.

Assumptions:
1. Family bonding has definite effect on patient.
2. Patients cannot recover in families with disputes.

A) If only assumption | is implicit
B) If only assumption Il is implicit
C) If either | or Il is implicit

D) If neither I nor Il is implicit

160) A deaf person is always dumb because

A) ltis a fact

) Earis connected to throat

) Deaf and Dumb goes along

) Speaking is leamt through hearing

B
C
D
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